< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

x1073

(Y

o

1
2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

-

.

—=— DQM_MmKFIt_T1origmnal

—e— DOQM_mkFit_TTNEWHS-improved
—— DQM_mkFit_TToriginal-10i

—— DOM_mkFit_ TTNEWHSMS-improved

100r

1071 1

...................................

..........................................

HEE S B

<+ b

L ;
FHF | e o

T . e

+ B [ B

H

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

N
o
| RN RARE RN RPN RELN LR LARE R

+

1

. 2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


